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Please make sure and read the farewell message from Dr. Karl Ho in this month's SAS Corner. - Ed.

An Introduction to Multilevel Models (Part I): Exploratory Growth
Curve Modeling

By Dr. Rich Herrington, Research and Statistical Support Consultant

This month we discuss exploratory growth curve modeling. This is Part | in a series on Multilevel Modeling.
The GNU S language, "R" is used to implement this procedure. R is a statistical programming environment that
is a clone of the S and S-Plus language developed at Lucent Technologies. In the following document we
illustrate the use of a GNU Web interface to the R engine on the "rss" server ( http://rss.acs.unt.edu/cgi-
bin/R/Rprog). This GNU Web interface is a derivative of the "Rcgi* Perl scripts available for download from the
CRAN Website (http://www.cran.r-project.org), the main "R" Website. Scripts can be submitted interactively,
edited, and then be re-submitted with changed parameters by selecting the hypertext link buttons that appear
below the figures. For example, clicking the "Run Program" button below creates a vector of 100 random
normal deviates; sorts and displays the results; then creates a histogram of the random numbers. To view any
text output, scroll to the bottom of the browser window. To view any graphical output, select the "Display
Graphic" link. The script can be edited and resubmitted by changing the script in the form window and then
selecting "Run the R Program”. Selecting the browser "back page" button will return the reader to this
document.

x<-rnorm(100)
sort(x)
hist(x)

RunProgram |

Introduction to Repeated Measure Multilevel Models

In this article we will discuss an exploratory approach to fitting a repeated measures multilevel model. This will
serve as a warm up to the more formal estimation methods used in multilevel modeling, which we will cover in
coming issues of RSS Matters. We will motivate the model with a simulated example that uses Iteratively Re-
weighted Least Squares (IRLS) regression to estimate parameters. Our goal here is to keep the example simple
to elucidate the main insights that growth curve modeling (multilevel modeling) offers. Additionally, we will
learn S language commands that allow us to graphically explore and statistically estimate parameters of a simple
multilevel model.

The following graph represents the time course of what we will call the level-one observed change, within an
individual. Examining such a graph allows the data modeler to attempt to characterize the change process as a
simple mathematical function (i.e. linear, quadratic, or cubic) for the individual entity. An assumption of growth
curve modeling approaches and multilevel approaches in general, is that a family of functions (e.g. linear) can
characterize the change process in different individuals, by allowing the parameters of the linear function to vary
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RSS Matters

randomly across individuals. Individuals express their unique variability through the parameters of the
mathematical function. These randomly varying estimates of the change process (e.g. intercept and slope) can
be related to background conditions of the individuals. It is here that we wish to get efficient and unbiased
estimates of the predictors of the change process. Do background covariates predict rates of change (slope) or
initial status of the outcome variable?

Four Repeated Measures for a Single Individual

Person |

Chuteome Variahle

lime

Summary Measures of the Level-One Model Change Process

Since the observed growth record for an individual is subject to measurement error and sampling variability, it is
useful to characterize the growth process as a mathematical function. We will call this the level-one model of
change. This mathematical function (e.g. linear), if representative, should capture the essential features of the
growth profile. The parameters of the function should summarize the characteristics of the change process for
the individual. In the following graph, a linear function is considered representative of the change process. An
intercept is calculated; the intercept gives a best estimate of the initial status of the outcome variable at the first
observation period. Additionally a slope is calculated; a slope gives an estimate of the rate of change in the
outcome variable per unit change in the time indicator variable. In our simulated example we have
electrophysiological assessments from the scalp of an individual who is engaged in EEG biofeedback (also
referred to as neurofeedback - NF), gathered over four observation periods. Individuals use a process of trial and
error and an electrical feedback signal from the scalp to change their own scalp electrical potentials. An initial
question is posed for our example: Does the rate of change in cortical electrical activity (amplitude in
millivolts) relate to background conditions of depression in the individual?
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Level One Linear Regression Model — Fitted “True™
Growth Trajectory for a Single Individual
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Person I
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Time
B =y v T v ey
where ¥, is the response variable of person 1
measured at time pont t=1,2,3.4; T is the time
variable that indicates the time point.
For example ¥ could represent NF or QEEG
assessments aft four periods of time.

Individual Variation (Level-One) and Group Level Variation (Level-Two)

The following graph depicts four linear growth curves fit for four different individuals. Additionally, an average
curve is estimated which represents the change process of the group as a whole, collapsing over individual
variation in the growth process. Each person has an intercept estimate and a slope estimate; these individual
estimates can vary from the group intercept and group slope (level-two). The source of this variation may be
related to other predictor variables, such as background characteristics, or may represent variation that is not
related to a substantial variable of interest. We will call this the level-two model. In our example, it might be
that the rate of change in electrical activity on the scalp (as measured in millivolts), is related to initial status of
depression, as measured behaviorally by a paper and pencil inventory - the Beck's Depression Inventory (BDI).

Fitted Growth Trajectories for Four Individuals

Duteams Variable (1)

lime

Predicting Outcome as a Function of Time - Allowing Individual Variation in Slopes and
Intercepts

We can represent both level-one and level-two models of change as a set of regression equations. The outcome
variable () is predicted by the estimates of individuals' slopes and intercepts. Each individuals' slope and
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intercept is composed of a constant (fixed) portion and a residual (random) portion. The fixed portion can be
thought of as the mean of the group estimate (i.e. group slope and group intercept), and the residual variation can
be thought of as unique variation that is not accounted for at the group level. We can substitute level two
regression equations into level one regression equations to obtain a single regression equation.

Unconditional Random Effects Growth Model

'Level 1 model: |

Yi="

0L i Tyte,

| Level 2 model: -
i '@f;_u_r_ “oi)

Pl Y

Combimng Level 1 and Level 2 by
substitution with simple rearrangement
of terms give:

J'“. —:ﬁw+ Ih.-,% L]||+(:1UI—I”.-u“+e”|_h

15t verm 2nd term

The first term represents the fixed component of growth; this represents the group level characteristics of growth.
The second term represents the random component of growth; this represents the individual level characteristics
of growth. This model is referred to as an unconditional growth model because we are NOT attempting to
predict growth using additional measures. To predict growth we must use a conditional growth model. Both
time variant and time invariant predictors of growth can be used in a conditional growth model

It is important to note that this single equation has "heteroscedastic” components. The second term in this
regression equation is heteroscedastic because the time variable (T), which is increasing, multiplies by a
variance component (u). Hence, the variance increases as a function of observation period, thus violating the
assumption of homoscedasticity in classical OLS estimates of the regression equation. It is for this reason that a
non-OLS estimate is needed for the parameters in the model; heteroscedasticity can lead to biased and/or
inefficient estimates of slope and intercept coefficients

Predicting the Outcome Variable as a Function of Level-One Covariates and Level-Two
Covariates

In the system of regression equations below, both time varying level-one covariates, and time-invariant level-two
covariates are combined. X is an individual level, time varying covariate, and Z is a time invariant, individual
level characteristic, or group level predictor; the six regression parameters (beta coefficients) relate the two
predictors to variability in initial status and rate of change over time.
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Conditional Random Effects Growth Model
| Level 1 model
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Y= Neuwroleedback Amplitgdes

Level 2 model: T = Time
- X=BDI Score
EUII = 'ﬁUU-‘- ’Hﬂl 'ZI-+HUI- Z= Gender {coded 0,1)

mi= Bt ArEityy;

o= Pt Py 2ty

Combinmg Level 1 and Level 2 by
substitution gives:
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2 X +u, T 4w X +u_ +e.
’ﬁZ] PO /I T A AR R R 0T 7

Using Varable Labels: NFA (Neurofeedback Amplitudes),
BDI (Beck's Depression Inventory) and Gender:;

NFA,; "SUU - /?al 0 A ime, .+ ,320 "BDI+ ,3[.]1 -Gemfer].— ﬁl I-Gwﬁer;ni"fmeﬁ -
,6'21 -Gender-BDI ; IH“-TMSH Hin - BDIHth €,

This model is a conditional growth model because the individual variability in initial status and change over time
are conditioned upon exogenous predictor variables. The conditional random effects model is sometimes
referred to as a: random coefficient model, mixed-effects model, hierarchical linear model (Bryk & Raudenbush,
1992), empirical Bayes model, "slopes as outcomes” model - or, more generally, a multilevel model.

In longitudinal research, we sometimes have repeated measures of individuals who are all measured together on
a small number of fixed occasions. This is typically the case with experimental designs involving repeated
measures and panel designs. For our example, our group level predictor can be an indicator variable indicating
either control or experimental group membership.

For our simulation example, we will use a much simpler model (displayed below), and will only focus on one
coefficient of interest. In the following example Y will be electrical voltages from the scalp (amplitude -
measured in millivolts) measured over observation period (T). Individuals change their own scalp electrical
potential through trial and error, relying on a biofeedback signal coming from their scalp (neurofeedback - NF).
Additionally, we have measured levels of depression using a behavioral (self-report) assessment device (Beck
Depression Inventory - BDI). Several questions can be posed: Is there evidence for systematic change and
individual variability in NF amplitudes over time? Is the post BDI assessment related to the initial levels or rates
of change in NF amplitudes? What is the relationship between the initial levels of NF amplitudes and the rates of
change in NF amplitudes over time? Is a linear relationship a good description of within-person change?
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Our Example Model

Level 1 model: ‘

F= -+ =
Y=t Tyt e

Wil ang interestod in
Level 2 model: | estimating an
unbiased estimate of
the correlation
batwean tha leval ong
slopes and the
backgmund covariate

m= ot

Parameter Estimation Using Iteratively Re-weighted Least Squares (IRLS)

We are interested in unbiased and efficient estimates of the beta coefficients which relate the background
covariate Z to the individual level estimates of rates of change and initial status (pi coefficients). Willet (1988)
outlines a fairly straightforward approach to estimating a growth curve model for a single, level-two coefficient
(relating individual slope coefficients to individual background covariates) . This method relies on weighted
least squares (WLS) and can be improved by iterating until the weights or residuals converge (IRLS). This
method is appealing because it provides insight into a central point of multilevel modeling: Level-two
coefficient estimates are weighted by the precision of the level-one coefficients. Individuals whose growth
coefficients are more reliably estimated, provide more input (information) in the estimation of level-two
coefficients. Individuals with large residual variability in their growth record, and hence more unreliable
estimates of level-one growth coefficients, are down weighted in the second level of analysis of the level-two
coefficients. In the table below, a modified form of Willet's algorithm is outlined.

A Simple Algorithm for a Two Stage Analysis of Growth
Rates with a Selected Covariate (See Willet, 1988)

1) Fit the wathin-<ndividual growth models,
retaining the estimated indiw dual growth
rates J’.?I. and their standard errors, s.e.(ﬁ'?i]l, for
subsequent between person analysis

21 Eegress the estimated individual growth rates
J’?I. on the selected covariate Zi by ordinary
least squares (CLE) analvsis, retaining the
estimated residual variance 52 as a global
measure of the "scatter” presentin the second
phase of analysis

31 Compute a weight matriz using weighted least
squares (WL3) regression:

2
8

i 32+s.e.(f.?i)2
4y Tterate steps 2 and 3 until Wi of 52 converges within
some tolerance (Iteratively Ee-weighted Least Squares - IRLE)

An Example Using GNU-S ("'R"")
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We will create a simulated data set that is modeled after real neurofeedback data. The observations represent
average neurofeedback session amplitudes (10 averaged sessions per observation period). The covariate
represents either a pre or post BDI assessment (we will use a post BDI assessment). We will go through most
sections of the S code to illustrate how S can be used to both simulate data according to an assumed model, and
then estimate the model, to try and recapture the population parameters. It is recommended that the reader
change the population parameters and experiment with the model. In this way, intuition can be gained about
how the observed data varies according to changes in the model. A "Live" script is presented below (this script
can be run, examined, and re-edited for re-submission and re-examination); below this live script is annotated

program output.

## SimulatingGrowth Curves
set.seed(20)

library(MASS)

####Numberof Growth Curves
nobs.curves<-20
A evel Two Parameters

beta.00<-8.5
beta.01<-.005

beta.10<-.05
beta.11<-(-.10)

u.0.std<-.03
u.l.std<-.15

#i##Parametefor Level OneResiduals
error.std<-3
####Parameterfor covariate

covar.mean<-10
covar.std<-2.5

####Generatélime vector

time<-matrix(rep(c(0,1,2,3)ength=4*nobs.curves),
nrow=nobs.curvesjcol=4,byrow=T)

time.list<-vector(list' nobs.curves)
for (i in 1:nobs.curves){time.list[[i]]<-time[i,]}

#it##GenerateCorrelated_evel OneParameters

Sigma.parans- matrix(c(1,-.3,-.3,1),2,2)

pi.indiv<-mvrnorm(n=nobs.curvesep(0,2), Sigma.param,
empirical=TRUE)

cor(pi.indiv)

#i##GenerateCorrelatecResiduals

Sigma.errok- matrix(c(1,.2,.2,.2,.2,1,.2,.2,.2,.2,1,.2,.2,.2,.2,1)
4,4

z.error<-mvrnorm(n=nobs.curve®p(0,4), Sigma.error,
empirical=TRUE)

indiv.error<-z.error*error.std
indiv.error

#i###GenerateCovariateScores

covar<-matrix(rnorm(nobs.curvespvar.mean,
covar.std)nrow=nobs.curves)

covar

####Construct.evel OneP: om leveltwo p:

pi.0<-matrix(beta.00+beta.01*(covar)+pi.indiv[,1]*u.0.sttol=1)
pi.1<-matrix(beta.10+beta.11*(covar)+pi.indiv[,2]*u.1.stdol=1)

mean(pi.0)
mean(pi.1)
sd(pi.0)
sd(pi.1)
cor(pi.0,pi.1)

####Construcobservediataset
y.obs<-matrix(Oprow=nobs.curvesicol=4)
for(i in 1:nobs.curves){
for (j in 1:4){
y.obsli,j]<-pi.O[i]+pi.1[i]*time[i,j]+indiv.errorfi,j]
}
}

###H#H#Eliminateunlikely observationsn the simulation
# by drawingtails of distributioninwardtowardmean

y.obsl[y.obs[,1]==min(y.obs],1]),1]<-mean(y.obs[,1])
y.obs[y.obs[,1]==max(y.obs[,1]),1]<-mean(y.obs[,1])

y.obsl[y.obs[,2]==min(y.obs][,2]),2]<-mean(y.obs[,2])
y.obs[y.obs[,2]==max(y.obs[,2]),2]<-mean(y.obs[,2])

y.obs[y.obs[,3]==min(y.obs][,3]),3]<-mean(y.obs][,3])
y.obs[y.obs[,3]==max(y.obs[,3]),3]<-mean(y.obs[,3])

y.obs[y.obs[,4]==min(y.obs[,4]),4]<-mean(y.obs[,4])
y.obs[y.obs[,4]==max(y.obs[,4]),4]<-mean(y.obs[,4])
HHHAHRR

y.obs.all<-cbind(y.obs,covar)

y.obs.all<-data.frame(y.obs.all)
names(y.obs.all)<-c('TimeOTimel','Time2', Time3','Covariate')
##HH#Converty.obsMatrix into a List
y.obs.list<-vector('listpobs.curves)

for (i in 1:nobs.curves){y.obs.list[[i]]<-y.obs[i,]}
y.obs.list
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## SimulatingGrowth Curves
set.seed(20)

library(MASS)

####Numberof Growth Curves
nobs.curves<-20
HiHHHH A HEevel Two Parameters

beta.00<-8.5
beta.01<-.005

beta.10<-.05
beta.11<-(-.10)

u.0.std<-.03
u.l.std<-.15

#itt#tParametefor Level OneResiduals
error.std<-3
#itt#tParameterfor covariate

covar.mean<-10
covar.std<-2.5

#itt#Generatélime vector

time<-matrix(rep(c(0,1,2,3)ength=4*nobs.curves),
nrow=nobs.curvesjcol=4,byrow=T)

time.list<-vector(list'nobs.curves)
for (i in 1:nobs.curves){time.list[[i]]<-time[i,]}

#itt#tGenerateCorrelated_evel OneParameters

Sigma.paranx- matrix(c(1,-.3,-.3,1),2,2)

pi.indiv<-mvrnorm(n=nobs.curvegep(0,2), Sigma.param,
empirical=TRUE)

cor(pi.indiv)

#i##GenerateCorrelatedResiduals

Sigma.errox- matrix(c(1,.2,.2,.2,.2,1,.2,.2,.2,.2,1,.2,.2,.2,.2,1)
z.error<-mvrnorm(n=nobs.curvegp(0,4), Sigma.error,
empirical=TRUE)

indiv.error<-z.error*error.std
indiv.error

#i##GenerateCovariateScores

covar<-matrix(rnorm(nobs.curvespvar.mean,
covar.std) nrow=nobs.curves)
covar

#i####Constructevel OneParameterfrom level two parameters

pi.0<-matrix(beta.00+beta.01*(covar)+pi.indiv[,1]*u.0.sbtol=1)
pi.1<-matrix(beta.10+beta.11*(covar)+pi.indiv[,2]*u.1.sodol=1)

mean(pi.0)
mean(pi.1)
sd(pi.0)
sd(pi.1)
cor(pi.0,pi.1)

####Construcobservediataset
y.obs<-matrix(Onrow=nobs.curves)col=4)
for(i in 1:nobs.curves){
for (j in 1:4){
y.obsli,j]<-pi.0[i]+pi.1[i]*time[i,j]+indiv.error[i,j]
}
}

#itHH##HEiminateunlikely observationén the simulation
# by drawingtails of distributioninwardtowardmean

min(y.obs[,1]),1]<-mean(y.obs][,1])
max(y.obs[,1]),1]<-mean(y.obs[,1])

min(y.obsl[,2]),2]<-mean(y.obs][,2])
max(y.obs[,2]),2]<-mean(y.obs[,2])

y.obs[y.obs[,3]
y.obs[y.obs[,3]

min(y.obsl[,3]),3]<-mean(y.obs][,3])
max(y.obs[,3]),3]<-mean(y.obs[,3])

min(y.obs[,4]),4]<-mean(y.obs[,4])
ax(y.obs[,4]),4]<-mean(y.obs[,4])

y.obs[y.obs[,4]
y.obs[y.obs[,

HHHHHHRH

y.obs.all<-cbind(y.obs,covar)
y.obs.all<-data.frame(y.obs.all)
names(y.obs.all)<-c('TimeOTimel', Time2','Time3','Covariate’)

####Converty.obsMatrix into a List
y.obs.list<-vector('listpobs.curves)

for (i in 1:nobs.curves){y.obs.list[[i]]<-y.obs[i,]}
y.obs.list

RunProgram |
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Population parameters are set according to our previous model with one background covariate (Z, the BDI). A
small number of growth curves are generated to examine the effect of small sample size in getting unbiased
estimates using OLS versus IRLS parameter estimation. Both the fixed portion and the residual portion (beta
and u) for the level-two regressions are set in the population. These will be used with the background covariate
to generate the slopes and intercepts for individuals (pi's).

#### MNumber of Growth Curves
nobs.curves<—-20
HEHHHHBHEHEEHE Level Tuo Parameters

beta.00<-5.5
beta.01<-.005

beta.10<-(-.20)
hbeta.l11<-.20

u.0.scd<—-.03
u.l.scd<-.15

H### Paramweter for Level One Residuals
error.std<-3
#### Paraweters for covariate

covar .mean<-10
covar ..std<-2.5

L v

A matrix of observation periods must be generated for each individual.

> HH#H Generate Time vector

-

> time<-matrix (rep(ci0,1,2,3), length=4*nobs.curves),
+ nrow=nohs.curves, ncol=4, byrow=T)

>

> time.list<-vector('list', nobs.curves)

> for (i in l:nohs.curves){time.list[[i]]<-timwe[i,]}
>

Slopes and intercepts of individuals can be correlated across individuals (pO - intercept, p1 - slope). We create
slopes and intercepts whaose correlation is -.30: high intercepts lead to rapid rates of change, and low intercepts
lead to small rates of change.

###H Generate Correlated Lewvel One Parameters

Figma.param <- mwatrix(cil,-.3,-.3,11,2,2)
pi.indiv<-mwrnorminh=rnobs.curves, rep(0, 2], Sigma.parato,
emwpirical=TRUE)]

R S

cor (pi.indiwv)

[-1]1 [.2]
[1.1] 1.0 -0.3
[2,] -0.3 1.0

Residuals at level-one (within an individual) are likely to be correlated. We assume a correlation structure that is
equal across time periods (compound symmetry).
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fi#f#i# Generate Correlated Residuals

Sigma.error <- watrixic(l,.2,.2,.2,.2,

4, 4]

empir

ical=TRUE)

indiv.error<-z.error¥error.std
indiwv.error

[1,]
[z.]
[3.1
[4,]
[5]
[&]
[7.1
[5.1
[=.1]
[10,]
[(11,]
[1z,1]
[13,]
[14,]
[13,]
[16,]
(17,1
[13,]
[1%,]
[z0,1

~

[-1]

1371378
LTE97E85
1035213
L ATE95E2
2933139
L BETO0EE
1744504
. 5073552
. 4993936
LATESTET
1462509
0050461
. BZ299555
LRZ22687
0199459
.93975568
L3337073
.9636504
7807655
2476334

>
>
-
+
> Z.error<-mvrnorm(h=nobhs.curves, repi(d,
+
>
-
>

[.2]
3.981868371
-1.58345309
—-Z.005845366
-3.73737318
-0.0595995374
3.66215933
3.40325453
3.845594669
-0.285892692
-1.30473322
-0.706s00709
-7.08117031
2.26310343
Z.10340032
-0.60136666
1.4537958761
-3.28142208
-1.87733734
-1.76553505
3.65248662

[,3]
4.77620494
1.1641654
2.3072686

-5.1474558
-3.1199230
1.0135153
-2.68510%0
Z.3063680
0.2376112
1.7369103
0.4554152
-4.6103369
Z.7280101
-3.0083773
-0.9304446
-0.4206570
1.51545872
5.5083218
0.2529361
-4.1112035

Next, a covariate is generated for each individual:

HH#HE Senerate Covariate Scores

covar

[1,]
[2,]
[3.1
[4,]
[5]
[&]
[7:1]
[=.1
[=2.1
[10,]
[(11,1]
[1z,1]
[13,]
[14,]
[13,]
[16,]
(17,1
[1g,1]
[1%,]
[z0,1

With the group betas (b0, bl), individual background covariate (covar), and level-two residual terms (u0, ul), we
can combine the level-two parameters together to obtain the level-one parameters for each individual (p0, p1).
We also estimate the average population slope and intercept estimates, and the correlation between the two, once
the betas are combined with the covariate and the residual terms. Later, in estimating a statistical model for this
simulated data, we might want to use "centered" estimates of the covariate (covar) to aid in interpretation and

10.
12.
i0.
0408697
11.
12.
L272361
14.
11.
13.
L 7e4001
L4276
11.
10.
13.
1i0.
.965430
14.
11.
273810

[,1]
106585
353083
152865

045452
137145

054151
690640
043145

513307
221173
25145
Q72019

23348659
429455

covar.std) ,

>
>
> Covar<-mwatrix (rnorm(nobhs.curves,
+
>

estimation (Hox, 2002).

1,

L2, 2,.2,.2,1,.

4], Sigmwa.error,

[,4]

54470439
4561057
GB031265
3830011
.9633371
09620594
. 5218852
.83651155
1347145
1471286
4005639
.83535021
1231027
2331652
2259268
3457363
.T138605
5025358
L1127987

5.5261419

COVALr .INean,

nrow=nobs. curves)
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Once the pi coefficients (p0, pl) are calculated for each individual, we can combine them with the time index and
add the level-one individual residual term to obtain the "observed score" for each individual, indexed by T - each
individual gets four observations since T ranges from 1 to 4.

#### Construct Level One Parameters from level twWo parameters

>
>
> pl.0<-matrix(kbeta.004+beta.01% (covar) +pi.indiv[,1] *u.0.3td, ncol=1)
> pi.l<-matrixi(beta.l0+beta.ll¥(covar)+pi.indiv[,2] *u.l.3td, ncol=1)
>

W

mean (pi.0)

[1] 5.553zZ52

> meani(pi.l)

[1] 1.9300685

> adipi.0)

[1] O0.03Z60155

> sdipi.l)

[1] DO.5144zZa4

> cor(pi.0, pi.l)
[,1]

[1,] 0.2941906

#H#H Construct obgferved data et

v.obhs<-matrix (0, nrow=nobs.curwves, nool=4)
for(i in l:nobs.curwves){
for (j in 1:4){
v.obs[i,3]<-pi.0[i]4pi.1[1i] *cime[i, ] +indiv.error[i, ]
H
H

W4 4+ 4 W W

Some attention needs to be paid to the fact that some observations can fall out of range of reasonable limits
(dictated by physical logistics and limitations). We can replace the min and max observation with the mean
observation, for each observation period. This process "draws" the tails of the distribution of scores, for an
observation period, toward the mean of the distribution. This can be iterated to shape the growth curves is so
desired. Here, we only iterate one time, taking the one smallest and one largest observation and replacing with
the mean for that observation period.

HHHHHEEHY Eliminate unlikely observations in the simulation
# by drawing tails of distribution inward toward mean

v.oha[v.obhs[,1l]==min(v.oba[,1]) 1] <-keaniv.obs[,1]]
v.ohs[v.obhs[,1]==max(y.obs[,1]),1l]<-weaniy.obhs[,1]]

v.ohs[v.ohs[,2]==min(v.ob=s[,2]) 2] <-weani(v.obs[,2]]
v.oha[v.obhs[2]==max (v.obas[,2]) ;2] <-keani(v.obs[,2]]

v.ohs[v.ohs[,3]==win(v.obs[,3]),3]<-mwean(y.obs[,3]]
v.ohs[y.obhs[,3]==max(yv.obs[,3]),3]<-mean(y.obs[,3]]

v.oha[v.obhs[,4]==min(v.obs[,4]) 3] <-kean(v.obs[,4]]
v.oha[v.obhs[,4] ==max (yv.obs3[,4]) 3] <-weani(y.obs[,4]])

A R U A L T L L R R

Finally, we list out the observed scores as simulated from a "known" model.
> w.obhs.list

[[1]]

[1] 5.556097 11.391735 14.167513 12.557456

[rell
[1] =2.862320 6£.348366 11.435850 14.097604

[[31]
[1] 5.404251 5.435123 11.686319 12.917652
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(0171l
[1] 9.354307 3.693321 9.922374 11.546891

[rie]]
[1] 1.600006 6.3475898 9.771714 13.035357

[[12]]
[1] 4.778620 5.9755849 10.185235 14.231559

[[20]]
[1] 7.792503 10.2658517 3.569551 14.276393

A "not-so-useful" depiction of all the observed growth profiles is a "Profile" plot. A profile plot allows one to
discern some random effects structures in the data - we can see that the slopes and intercepts are potentially
correlated; we see that there is heteroscedasticity prevalent in the data; and we can examine potential "outlying"
growth records.

]
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=

]

o

o
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o -

-1 o} 1 2 3 4

timeli, ]

Parametric Estimation of Growth Curve Models Using OLS and IRLS

Ordinary Least Squares (OLS) is used to estimate the level-one linear regressions for all individuals. Standard
errors for each individual regression are used to create weights for the level-two regression of the level-one
slopes and background covariates. Additionally, at the level-two regression, iteratively re-weighted least squares
(IRLS) is used to converge on the best estimates given the initial level-one weights.

###PerformOLS Regressiomn all Curves

results<-lapply(1:nobs.curveisinction(i, , y) Im(y[{i]-[fi}).
x = timelist,y = y.obs.list)

####ExtractResultsinto a Dataframe

result matrix<-matrix(0ncol=11,nrow=nobs.curves)
for(i in Linobs.curves){

result.matrix[i} y( )
summary(results{fi[)Scoefficients[3],

summary(results[[})$coefficients[2],
summary(results[[i]})$coefficients(4],
summary(results[fi[)$sigma,
summary(results[(})$r.squared,
covarfi],

results{[ij$fitted.values[1],
results{[ifj$fitted.values[2],
results[[i]$fitted.values[3],
results[i}$fitted.values{4])

}

####Label Columnsof DataFrame

result.matrix<-data.frame(result. matrix)

names(result. matrix)<-c('intercept’ int.std.err"'slope’,
‘slope.std.err' resid.std.err', R squared,
‘covar',0.pred' t1.pred’ t2.pred’,
13.pred’)

####Calculationof Level Two Analysisof Slopeswith Covarite

result.level2<-summary(Im(result. matrix[,3]~result. matrix[, 7]))
level.two.sigma<-result level2$sigma
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B R R R R R
###PerformOLS Regressiomn all Curves

results<-lapply(1:nobs.curvesinction(i, x, y) Im(y[[il]~X[[i]).
x = time.list,y = y.obs.list)

#iH#EXtractResultsnto a Dataframe

result.matrix<-matrix(Oncol=11,nrow=nobs.curves)

for(i in 1:nobs.curves){

result.matrix[i,]<-chind(summary(results[[i]])$coefficients[1],
summary(results[[i]])$coefficients[3],
summary(results([i]])$coefficients[2],
summary(results[[i]])$coefficients[4],
summary(results|[i]])$sigma,
summary(results[[i]])$r.squared,
covarfi],
results[[i]]$fitted.values[1],
results|[[i]]$fitted.values[2],
results[[i]]$fitted.values[3],
results[[i]]$fitted.values[4])

}

#####Label Columnsof DataFrame

result.matrix<-data.frame(result.matrix)

names(result.matrix)<-c(‘intercept','int.std.err','slope’,
'slope.std.err','resid.std.err','R.squared’,
‘covar','t0.pred','t1.pred','t2.pred’,
't3.pred’)

###Calculationof Level Two Analysisof Slopeswith Covarite

result.level2<-summary(Im(result.matrix[,3]~result.matrix[, 7))
level.two.sigma<-result.level2$sigma

####Calculateweightsbasedn level two sigmathencalculate
# weightedeastsquareandgetnewsigma;Continuethis
# iterativelyuntil leveltwo sigmadoesnotchanggIRWLS)

new.level.two.sigma<-0

while((level.two.sigma-new.level.two.sigma)>.0001){
weight<-(level.two.sigma’2/(level.two.sigma”2+

result.matrix$resid.std.err2))
result.weighted<-Im(result.matrix[,3]~result.matrix[,7],
weights=weight)

new.level.two.sigma<-summary(result.weighted)$sigma
level.two.sigma<-new.level.two.sigma

}
summary(result.weighted)
####OLS Results
result.level2
result.level2$r.squared”.5
#H##WLS Results

summary(result.weighted)
summary(result.weighted)$r.squared”.5

####Descriptiveson Observedscores

cor(y.obs)
apply(y.obs2, mean)

apply(y.obs?2, sd)
mean(covar)

####_evel Two Meansfor InterceptandSlope
mean(result.matrix[,1])

mean(result.matrix[,3])
cor(result.matrix[,1]result.matrix[,3])
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###PerformOLS Regressiomnall Curves

results<-lapply(1:nobs.curvelsinction(i,x, y) Im(y[{il}=x[fil)),
x = time list,y = y.obs list)

####EXtractResultsinto a Dataframe

yyyy It matrive.matriviincnl=11 nrow=nohe ciinses)

RunProgram

All 20 regressions are performed; the beta coefficients, standard errors (used for weights later), covariates, and
other interesting information are combined into a single data frame; informative names are then assigned to the
columns.

EEEEREEE R EEEEEEEEE RS EEEEE S EEEEEEEEE R R SRR R

### Perform OL3 Regression on all Curves

results<-lapplyi{l:nokbs.curves, functioni(i, x, v) lmi(v[[i]]1~=x[[1i]]]) .
¥ = time.list, ¥ = y.obs3.list)

###f# Extract Results into a Dataframe

result.matrixX<-matrix (0, nool=11, nrow=nohs.ourves)

forii in l:nohs.curves)d

result.matrix[i,]<-chind {sunmwary (results[[1i]]) fcoefficient=s[1],
summary (results[[1]1]) jcoefficients[3],
sumaryiresults[[1]] ) §coefficienta[2],
suwmaryi(results[[1]] ) $coefficients[4],
sunmary (results[[1]]) §sioma,
swmmary (results[[1]] ) $r.squared,
covar[i]
results[[i]] éficced.values[1],
results[[i]] {fitted.values[2],
results[[i]] ffitted.value=s[3],
results[[i]]dfitted.value=[4])

¥

#### Label Columns of DataFrame

result . matrix<-data.frame (result.macrix)

names (result.matrix) <-c (' intercept','int.scd.erxr’','=slope’,
'slope.std.err’','resid.std.err','B.squared’ ,
'eovar!,'t0.pred' 'l pred', '£2 . pred’',
't3.pred')

MaA VY Y Y Y b h hhh hh hhhhE VYV YV WYY Y

A nice alternative to a profile plot of the observed data, is a profile plot of the level-one predicted values for each
observation period. This plot better summarizes the correlation structure of the parameters (slopes and
intercepts), and indicates more clearly the nature of the heteroscedasticity in the data.
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A comparison of the OLS and IRLS sol

tima(i, ]

ution indicates that the slope estimates are close for both the IRLS and

OLS procedures (.25 for OLS versus .36 for IRLS). However, the IRLS procedure gives a substantially smaller

residual standard error (1.001 for OLS

versus .5483 for IRLS), thereby giving a more efficient estimate for the

IRLS procedure. Furthermore, the residuals for the OLS indicate fairly high values (-1.7009, 1.5025), whereas
the IRLS residuals are relatively smaller (-.84154, 1.00915) - using 2.0 as a cutoff.

> #### OL3 Results
>
> result.level:z

Call:
lm({formula = result.matrix[, 3]
Besiduals:

Min 1o Median 30
-1.700% -0.5330 -0.0875 0.5953

Coefficients:

Estimate 3td.

[ Intercept) -2.85485
result.macrix[, 7] 0.z25108
Signif. codes: o "#*%%' 0.001
FBesidual standard esrror: 1.001

Multiple R-S3cuared: 0.2351,
F-statiscic: 7.177 on 1 and 15
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~ result.matrix[, 711

Max
1.50:zZ5

Error t walue Pr(>|t])

1.0z2287 -2.791 o.01z21 *
0.0937:2 Z.879 0.0153 *
TE®0 Q.01 %' 0,05 "L 0.1 "l

on 158 degrees of freedom
Adjusted R-=quared: 0.2453
DF, p-values: 0.01532
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> HH## WL3 Results
>
> summary(result.weighted)

Call:
lmiformala = result.matrix[, 3] ~ result.matrix[, 7], weights = weight)
RFesiduals:

Hin 10 Median 30 Max

-0.54154 -0.41529 -0.09472 0.26591 1.00915

Coefficients:

Estimate 3td. Error t wvalue Fri>|t])
[Intercept) -3.8360 1.4213 -2.6959 0.01469 *
result.matrix[, 7] 0.36368 0.1173 3.0586 0.006358 #**
Jignif. eodes: 0O "***' Q0.001 "**' Q0,01 "' O.05 C.,' 0.1 ' 1

Fesidual standard error: 0.5453 on 15 degrees of freedom
Multiple R-3quared: 0.346, bdjusted B-sguared: 0.3096
F-statistic: 9.522 on 1 and 15 DF, p-value: 0.006375

OLS gives a good fit to the observed data even though growth curve parameters are not weighted by the
parameter’s precision at level-one. This indicates a relatively efficient solution, however IRLS gives a much
better fit to the data. Consequently, the estimates of R-squared are significantly larger for IRLS indicating that
the OLS is not as efficient in the presence of heterogeneous slopes having differing measurement precisions.

Descriptive statistics for the observed data and the level-one regressions are generated.

> HHHH Descriptives on Chserved Scores
>
> cor (v.obhs)
[-1] [,2] [,3] [-1]
[1,] 1.00000000 -0.28130365 0.06113171 0.08572414
[2,] -0.25130365 1.00000000 -0.04777873 -0.22536795
[3,1] 0.06113171 -0.04777573 .0oooooo0o0  0.38395930
[4,] 0.05572414 -0.22536795 0.383959220 1.00000000
> applyiv.obs, 2, nmean)
[1] 5.558872 5.499545 5.127406 5.080371
> apply(y.okbs, 2, sd)
[1] 2.3585257 2.3544581 3.006104 Z.612348
> Imeah [(Covar)
[1] 10.65034
-
> #### Level Two Means for Intercept and 3lope
-
> meah (result.matrix[,1])
[1] 5.587696
> mean (result.matrix[,3])
[1] -0.1507644
> cor (result.matrix[,1], result.matrix[,3])
[1] -0.7099z2:2

=

A Graphical Depiction of the Relationship Between the Observed Background Covariate
and the Estimate Growth Rates

Another useful graphical depiction is a scatter plot (with an OLS best fit line) of the estimated growth rates
(slopes) with the background covariate. One can graphically characterize the impact of the heteroscedasticity
present in the data on the level-two regression of slopes and covariates. The heteroscedasticity in the plot
appears to be quite large. While significant "outliers” are present, these outliers seem to "counterbalance™ one
another across the mean of the Y-axis, and counterbalance one another across the mean of the X-axis. This
could account for the closeness of the IRLS and OLS parameter estimates. If the size of the residuals are: 1)
symmetrical and counterbalanced across both Y and X axes (as is in this case), and 2) the outlying values on
the X-axis are close to the mean of the X-axis, this would lead to less bias in the parameter estimates. An
interesting experiment would be to generate different data sets with differing patterns of heteroscedasticity, and
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observe the difference in the parameter estimates of the OLS and IRLS procedures.

HHHHH T T T
#iHHHHP ot covariatewith estimatedyrowthrates

par(mfrow=c(3,3)new=F)

par(new=F)
plot(result.matrix[,7],result.matrix[,3])
abline(Im(result.matrix[,3]~result.matrix[,7]))

####HPlot observediata

for(i in 1:nobs.curves){
plot(timel[i,],y.obsJi,],ylim=c(0,13),xlim=c(-1,4))
lines(timeli,],y.obs]i,])
par(new=T)

}

####Plot Trajectoryof Fitted Growth Curves

result.plot.matrix<-data.matrix(result.matrix[8:11])
result.plot.matrix
par(new=F)
for(i in 1:nobs.curves){
plot(timel[i,],result.plot.matrix[i,] ylim=c(0,13),xlim=c(-1,4))
lines(time[i,],result.plot.matrix[i,])
par(new=T)

}

RunProgram |

The graph below (panel 1) depicts the relationship between the covariate (Y-axis) and the slopes for individuals
(X-axis). The second graph (panel 2) plots the observed data as a function of observation period, and the third
graph (panel 3) is the predicted values from the level-one regressions plotted as a function of observation
period.

roob]

reli.rmatig , 3]
reslipla.matidi, |

-1 :] o 1z 14 -1

re=ulimared, 7]

Conclusions

A Two Stage IRLS model of the Post BDI covariate and the individual growth rates
indicates that there is reliable differences in growth rates in individuals and is
correlated with the post BDI assessment (for the simulated data set). In general,
larger negative slopes are correlated with smaller values on the BDI assessment, and
lesser negative slopes are correlated with larger values on the post BDI assessment.
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In general, larger negative slopes are correlated with larger NF amplitudes at initial
status, and smaller negative slopes are correlated with smaller NF amplitudes at
initial status. The IRLS and OLS beta estimates (slopes) were fairly close in value -
this may be due to the symmetrical pattern of heteroscedasticity in the data.
However, IRLS estimation gave significantly smaller level-two residual standard
error than OLS estimation, for the level-two regression - IRLS is more efficient than
OLS in this example. Consequently, the percentage variance accounted for in the
outcome variable (NF amplitudes), by knowledge of the background covariate
(BDI), was substantially larger for the IRLS solution.

Next Time
Next time we will explore the use of the S-Plus and R library NLME (linear and nonlinear mixed effects) with

the simulated data set used in this article. Additionally, we will look at other parameter estimation algorithms
(e.g. Restricted Maximum Likelihood - REML), and other model diagnostic approaches (e.g. AIC).
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	AwMi9vY3RvYmVyMDIvcnNzLmh0bQA=: 
	form12: 
	INPUT: x<-rnorm(100)
sort(x)
hist(x)
	input3: 


	AwMi9vY3RvYmVyMDIvcnNzLmh0bQA=: 
	form15: 
	INPUT: ####################################################
## Simulating Growth Curves
set.seed(20)
library(MASS)

#### Number of Growth Curves

nobs.curves<-20

############## Level Two Parameters

beta.00<-8.5
beta.01<-.005

beta.10<-.05 
beta.11<-(-.10)

u.0.std<-.03
u.1.std<-.15

#### Parameter for Level One Residuals

error.std<-3

#### Parameters for covariate 

covar.mean<-10
covar.std<-2.5

#### Generate Time vector

time<-matrix(rep(c(0,1,2,3), length=4*nobs.curves), 
             nrow=nobs.curves, ncol=4, byrow=T)

time.list<-vector('list', nobs.curves)
for (i in 1:nobs.curves){time.list[[i]]<-time[i,]}

#### Generate Correlated Level One Parameters

Sigma.param <- matrix(c(1,-.3,-.3,1),2,2)
pi.indiv<-mvrnorm(n=nobs.curves, rep(0, 2), Sigma.param, 
                  empirical=TRUE)
cor(pi.indiv)

#### Generate Correlated Residuals

Sigma.error <- matrix(c(1,.2,.2,.2,.2,1,.2,.2,.2,.2,1,.2,.2,.2,.2,1),
                      4,4)
z.error<-mvrnorm(n=nobs.curves, rep(0, 4), Sigma.error, 
                     empirical=TRUE)

indiv.error<-z.error*error.std
indiv.error
                     
#### Generate Covariate Scores

covar<-matrix(rnorm(nobs.curves, covar.mean, 
              covar.std), nrow=nobs.curves)
covar

#### Construct Level One Parameters from level two parameters
          
pi.0<-matrix(beta.00+beta.01*(covar)+pi.indiv[,1]*u.0.std, ncol=1)
pi.1<-matrix(beta.10+beta.11*(covar)+pi.indiv[,2]*u.1.std, ncol=1)

mean(pi.0)
mean(pi.1)
sd(pi.0)
sd(pi.1)
cor(pi.0, pi.1)

#### Construct observed data set

y.obs<-matrix(0, nrow=nobs.curves, ncol=4)
for(i in 1:nobs.curves){
 for (j in 1:4){
    y.obs[i,j]<-pi.0[i]+pi.1[i]*time[i,j]+indiv.error[i,j]
                }
    }

######## Eliminate unlikely observations in the simulation 
#        by drawing tails of distribution inward toward mean

y.obs[y.obs[,1]==min(y.obs[,1]),1]<-mean(y.obs[,1])
y.obs[y.obs[,1]==max(y.obs[,1]),1]<-mean(y.obs[,1])

y.obs[y.obs[,2]==min(y.obs[,2]),2]<-mean(y.obs[,2])
y.obs[y.obs[,2]==max(y.obs[,2]),2]<-mean(y.obs[,2])

y.obs[y.obs[,3]==min(y.obs[,3]),3]<-mean(y.obs[,3])
y.obs[y.obs[,3]==max(y.obs[,3]),3]<-mean(y.obs[,3])

y.obs[y.obs[,4]==min(y.obs[,4]),4]<-mean(y.obs[,4])
y.obs[y.obs[,4]==max(y.obs[,4]),4]<-mean(y.obs[,4])


##########

y.obs.all<-cbind(y.obs,covar)
y.obs.all<-data.frame(y.obs.all)
names(y.obs.all)<-c('Time0', 'Time1', 'Time2', 'Time3', 'Covariate')

#### Convert y.obs Matrix into a List

y.obs.list<-vector('list', nobs.curves)
for (i in 1:nobs.curves){y.obs.list[[i]]<-y.obs[i,]}
y.obs.list

	INPUT_(1): ####################################################
## Simulating Growth Curves
set.seed(20)
library(MASS)

#### Number of Growth Curves

nobs.curves<-20

############## Level Two Parameters

beta.00<-8.5
beta.01<-.005

beta.10<-.05 
beta.11<-(-.10)

u.0.std<-.03
u.1.std<-.15

#### Parameter for Level One Residuals

error.std<-3

#### Parameters for covariate 

covar.mean<-10
covar.std<-2.5

#### Generate Time vector

time<-matrix(rep(c(0,1,2,3), length=4*nobs.curves), 
             nrow=nobs.curves, ncol=4, byrow=T)

time.list<-vector('list', nobs.curves)
for (i in 1:nobs.curves){time.list[[i]]<-time[i,]}

#### Generate Correlated Level One Parameters

Sigma.param <- matrix(c(1,-.3,-.3,1),2,2)
pi.indiv<-mvrnorm(n=nobs.curves, rep(0, 2), Sigma.param, 
                  empirical=TRUE)
cor(pi.indiv)

#### Generate Correlated Residuals

Sigma.error <- matrix(c(1,.2,.2,.2,.2,1,.2,.2,.2,.2,1,.2,.2,.2,.2,1),
                      4,4)
z.error<-mvrnorm(n=nobs.curves, rep(0, 4), Sigma.error, 
                     empirical=TRUE)

indiv.error<-z.error*error.std
indiv.error
                     
#### Generate Covariate Scores

covar<-matrix(rnorm(nobs.curves, covar.mean, 
              covar.std), nrow=nobs.curves)
covar

#### Construct Level One Parameters from level two parameters
          
pi.0<-matrix(beta.00+beta.01*(covar)+pi.indiv[,1]*u.0.std, ncol=1)
pi.1<-matrix(beta.10+beta.11*(covar)+pi.indiv[,2]*u.1.std, ncol=1)

mean(pi.0)
mean(pi.1)
sd(pi.0)
sd(pi.1)
cor(pi.0, pi.1)

#### Construct observed data set

y.obs<-matrix(0, nrow=nobs.curves, ncol=4)
for(i in 1:nobs.curves){
 for (j in 1:4){
    y.obs[i,j]<-pi.0[i]+pi.1[i]*time[i,j]+indiv.error[i,j]
                }
    }

######## Eliminate unlikely observations in the simulation 
#        by drawing tails of distribution inward toward mean

y.obs[y.obs[,1]==min(y.obs[,1]),1]<-mean(y.obs[,1])
y.obs[y.obs[,1]==max(y.obs[,1]),1]<-mean(y.obs[,1])

y.obs[y.obs[,2]==min(y.obs[,2]),2]<-mean(y.obs[,2])
y.obs[y.obs[,2]==max(y.obs[,2]),2]<-mean(y.obs[,2])

y.obs[y.obs[,3]==min(y.obs[,3]),3]<-mean(y.obs[,3])
y.obs[y.obs[,3]==max(y.obs[,3]),3]<-mean(y.obs[,3])

y.obs[y.obs[,4]==min(y.obs[,4]),4]<-mean(y.obs[,4])
y.obs[y.obs[,4]==max(y.obs[,4]),4]<-mean(y.obs[,4])


##########

y.obs.all<-cbind(y.obs,covar)
y.obs.all<-data.frame(y.obs.all)
names(y.obs.all)<-c('Time0', 'Time1', 'Time2', 'Time3', 'Covariate')

#### Convert y.obs Matrix into a List

y.obs.list<-vector('list', nobs.curves)
for (i in 1:nobs.curves){y.obs.list[[i]]<-y.obs[i,]}
y.obs.list
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### Perform OLS Regression on all Curves

results<-lapply(1:nobs.curves, function(i, x, y) lm(y[[i]]~x[[i]]),
          x = time.list, y = y.obs.list)

#### Extract Results into a Dataframe

result.matrix<-matrix(0, ncol=11, nrow=nobs.curves)
for(i in 1:nobs.curves){
result.matrix[i,]<-cbind(summary(results[[i]])$coefficients[1],
                         summary(results[[i]])$coefficients[3],
                         summary(results[[i]])$coefficients[2],
                         summary(results[[i]])$coefficients[4],
                         summary(results[[i]])$sigma,
                         summary(results[[i]])$r.squared,
                         covar[i],
                         results[[i]]$fitted.values[1],
                         results[[i]]$fitted.values[2],
                         results[[i]]$fitted.values[3],
                         results[[i]]$fitted.values[4])
}

#### Label Columns of DataFrame

result.matrix<-data.frame(result.matrix)
names(result.matrix)<-c('intercept','int.std.err','slope',
                         'slope.std.err','resid.std.err','R.squared',
                         'covar','t0.pred','t1.pred','t2.pred',
                         't3.pred')


#### Calculation of Level Two Analysis of Slopes with Covarite

result.level2<-summary(lm(result.matrix[,3]~result.matrix[,7]))
level.two.sigma<-result.level2$sigma

#### Calculate weights based on level two sigma then calculate 
#    weighted least squares and get new sigma; Continue this 
#    iteratively until level two sigma does not change (IRWLS)

new.level.two.sigma<-0
while((level.two.sigma-new.level.two.sigma)>.0001){
    weight<-(level.two.sigma^2/(level.two.sigma^2+
             result.matrix$resid.std.err^2))
    result.weighted<-lm(result.matrix[,3]~result.matrix[,7], 
                    weights=weight)
    new.level.two.sigma<-summary(result.weighted)$sigma
    level.two.sigma<-new.level.two.sigma
    }

summary(result.weighted)

#### OLS Results

result.level2
result.level2$r.squared^.5


#### WLS Results

summary(result.weighted)
summary(result.weighted)$r.squared^.5

#### Descriptives on Observed Scores

cor(y.obs)
apply(y.obs, 2, mean)
apply(y.obs, 2, sd)
mean(covar)

#### Level Two Means for Intercept and Slope

mean(result.matrix[,1])
mean(result.matrix[,3])
cor(result.matrix[,1], result.matrix[,3])

	INPUT_(1): #####################################################
### Perform OLS Regression on all Curves

results<-lapply(1:nobs.curves, function(i, x, y) lm(y[[i]]~x[[i]]),
          x = time.list, y = y.obs.list)

#### Extract Results into a Dataframe

result.matrix<-matrix(0, ncol=11, nrow=nobs.curves)
for(i in 1:nobs.curves){
result.matrix[i,]<-cbind(summary(results[[i]])$coefficients[1],
                         summary(results[[i]])$coefficients[3],
                         summary(results[[i]])$coefficients[2],
                         summary(results[[i]])$coefficients[4],
                         summary(results[[i]])$sigma,
                         summary(results[[i]])$r.squared,
                         covar[i],
                         results[[i]]$fitted.values[1],
                         results[[i]]$fitted.values[2],
                         results[[i]]$fitted.values[3],
                         results[[i]]$fitted.values[4])
}

#### Label Columns of DataFrame

result.matrix<-data.frame(result.matrix)
names(result.matrix)<-c('intercept','int.std.err','slope',
                         'slope.std.err','resid.std.err','R.squared',
                         'covar','t0.pred','t1.pred','t2.pred',
                         't3.pred')


#### Calculation of Level Two Analysis of Slopes with Covarite

result.level2<-summary(lm(result.matrix[,3]~result.matrix[,7]))
level.two.sigma<-result.level2$sigma

#### Calculate weights based on level two sigma then calculate 
#    weighted least squares and get new sigma; Continue this 
#    iteratively until level two sigma does not change (IRWLS)

new.level.two.sigma<-0
while((level.two.sigma-new.level.two.sigma)>.0001){
    weight<-(level.two.sigma^2/(level.two.sigma^2+
             result.matrix$resid.std.err^2))
    result.weighted<-lm(result.matrix[,3]~result.matrix[,7], 
                    weights=weight)
    new.level.two.sigma<-summary(result.weighted)$sigma
    level.two.sigma<-new.level.two.sigma
    }

summary(result.weighted)

#### OLS Results

result.level2
result.level2$r.squared^.5


#### WLS Results

summary(result.weighted)
summary(result.weighted)$r.squared^.5

#### Descriptives on Observed Scores

cor(y.obs)
apply(y.obs, 2, mean)
apply(y.obs, 2, sd)
mean(covar)

#### Level Two Means for Intercept and Slope

mean(result.matrix[,1])
mean(result.matrix[,3])
cor(result.matrix[,1], result.matrix[,3])

	INPUT_(1)_(2): #####################################################
### Perform OLS Regression on all Curves

results<-lapply(1:nobs.curves, function(i, x, y) lm(y[[i]]~x[[i]]),
          x = time.list, y = y.obs.list)

#### Extract Results into a Dataframe

result.matrix<-matrix(0, ncol=11, nrow=nobs.curves)
for(i in 1:nobs.curves){
result.matrix[i,]<-cbind(summary(results[[i]])$coefficients[1],
                         summary(results[[i]])$coefficients[3],
                         summary(results[[i]])$coefficients[2],
                         summary(results[[i]])$coefficients[4],
                         summary(results[[i]])$sigma,
                         summary(results[[i]])$r.squared,
                         covar[i],
                         results[[i]]$fitted.values[1],
                         results[[i]]$fitted.values[2],
                         results[[i]]$fitted.values[3],
                         results[[i]]$fitted.values[4])
}

#### Label Columns of DataFrame

result.matrix<-data.frame(result.matrix)
names(result.matrix)<-c('intercept','int.std.err','slope',
                         'slope.std.err','resid.std.err','R.squared',
                         'covar','t0.pred','t1.pred','t2.pred',
                         't3.pred')


#### Calculation of Level Two Analysis of Slopes with Covarite

result.level2<-summary(lm(result.matrix[,3]~result.matrix[,7]))
level.two.sigma<-result.level2$sigma

#### Calculate weights based on level two sigma then calculate 
#    weighted least squares and get new sigma; Continue this 
#    iteratively until level two sigma does not change (IRWLS)

new.level.two.sigma<-0
while((level.two.sigma-new.level.two.sigma)>.0001){
    weight<-(level.two.sigma^2/(level.two.sigma^2+
             result.matrix$resid.std.err^2))
    result.weighted<-lm(result.matrix[,3]~result.matrix[,7], 
                    weights=weight)
    new.level.two.sigma<-summary(result.weighted)$sigma
    level.two.sigma<-new.level.two.sigma
    }

summary(result.weighted)

#### OLS Results

result.level2
result.level2$r.squared^.5


#### WLS Results

summary(result.weighted)
summary(result.weighted)$r.squared^.5

#### Descriptives on Observed Scores

cor(y.obs)
apply(y.obs, 2, mean)
apply(y.obs, 2, sd)
mean(covar)

#### Level Two Means for Intercept and Slope

mean(result.matrix[,1])
mean(result.matrix[,3])
cor(result.matrix[,1], result.matrix[,3])
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###### Plot covariate with estimated growth rates

par(mfrow=c(3,3), new=F)
par(new=F)
plot(result.matrix[,7],result.matrix[,3])
abline(lm(result.matrix[,3]~result.matrix[,7]))


#### Plot observed data 

for(i in 1:nobs.curves){
    plot(time[i,],y.obs[i,], ylim=c(0,13), xlim=c(-1,4))
    lines(time[i,],y.obs[i,])
    par(new=T)
    }

#### Plot Trajectory of Fitted Growth Curves

result.plot.matrix<-data.matrix(result.matrix[8:11])
result.plot.matrix
par(new=F)
for(i in 1:nobs.curves){
    plot(time[i,],result.plot.matrix[i,], ylim=c(0,13), xlim=c(-1,4))
    lines(time[i,],result.plot.matrix[i,])
    par(new=T)
    }

	input3: 




